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(b) Consider the set 4 = {k I m, n, p} and the
corresponding relation R = {(k, k), (/, ]), (m, m) (n,

), (p, p), (k m), (k 1), (k, n), (& p), (m, n) (m, p),
(n, p) (/, p)}. Construct the directed graph and the
corresponding Hasse diagram of this partial order.

UNIT-1i

3. (a) Let D35 be the set of +ve factors of 35, Two
binary operations '+' and "' are defined as follows
a + b =LCM (ab) and ab = ged (a, b) V
a,b € D35. A unary operation () on Dj;s is defined
as a nm.m.<a € D35. Show that (D35,+,;",',35) is a

a
Bolean algebra.
(b) Write the dual of each of the following statements

in (B, +, )
(i) [@+b).(b+0)] .(a'c)y=0

(i) a.b’+b=a+b

(ii)) a+[b +a).b]'=1

4. (a) Write the function f(x, y, )=(x+y), (x+y)@"+z2)
be given boolean function, find its disfunctive
normal form.

{(b) Given the Boolean
f=ABC+BCD + ABC.

(i) Make a truth Table
(i) Simplify using K-map

expression

(iii) Make the switching circuit of the expression.

(2)

5. (a)

(b)
6. (a)
(b)

7. (a)

(b)
8. (a)
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UNIT - Il

Show that there is no graph with 12 vertices and |
28 edges in which the degree of each vertex i
either 3 or 6.

Show that Ks is a non- planer graph.
Write an algorithm for the shortest path problem

A finite graph G has an Euler circuit if and only if
it is connected and all vertices have even degrec.

UNIT -1V
Define the following :
(i) M- ary tree
(i) Full m- ary tree
(iii) Full Binary trec
(iv) Complete Binary tree
Write a short note on Prim's Algorithm

Use depth first search to find the Spanning tree of
the following connected graph G.

vy Vi via
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(3) P.T.O.




